FRACTIONS - PRACTICE QUESTIONS
NON-CALCULATOR

1.
Fully simplify each fraction: metatutor
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Work out:
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Work out, fully simplifying your answers:
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Work out:
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5.
Work out, fully simplifying your answers:
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Work out, fully simplifying your answers:

1 2

@573

20 4



7.
Work out, fully simplifying your answers:

2 2
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8.
1
(a) Find 2 of 48.

1
(b) Find 3 of 45.

3
(c) Find < of 55.

5
(d) Find P of 78.

4
(e) Find 5 of 108.

5
H Findg of 112.

3
(g) Find - of 371.

5
(h) Find 5 of 414.



9.
Work out, fully simplifying your answers:

@Sx%
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10.
Work out, fully simplifying your answers:
@%+2
b))+ 3
@§+6
s+ 4
(@£+2
0=+ 6



11.

3
(@) < of a number is 45. What is the number?

(b) s of a number is 40. What is the number?

4
(c) 5 of a number is 72. What is the number?

7
(d) To of a number is 98. What is the number?

(e) 11 of a number is 64. What is the number?

9
) 20 of a number is 135. What is the number?

7
(2) E of a number is 105. What is the number?



12.
Work out, fully simplifying your answers:
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13.
Work out, fully simplifying your answers:
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